PARLIAMENT OF INDIA

(JOINT RECRUITMENT CELL)
PRELIMINARY EXAMINATION FOR THE POST OF JUNIOR LIBRARY ASSISTANT IN THE LOK SABHA SECRETARIAT
16 JANUARY, 2011
GENERAL KNOWLEDGE & CURRENT AFFAIRS AND GENERAL ENGLISH
INSTRUCTIONS : (i) Write your Roll No. at the appropriate column on the answer sheet. (ii) Put "X’ mark

only in the correct Box like this {X}. No marks will be given for responses outside the Box. Use blue or black pen
only to mark your response.  (iii) In case you want to change your response to any question, fully blacken the
first response like this M and {X} mark in the correct Box.

Time : 50 Minutes Marks : 100

PART - A : General Knowledge and Current Affairs

1. In India Book Royalty is given up to
(A) 50 years (B) 60 years (C) Life + 50 years (D) Life + 60 years
o DRDO was established in the year
(A) 1954 (B) 1958 (C) 1964 (D) 1951
3. Which of the following processes is used by computed tomography employed for visualization of
the internal structure of human body?
(A) X-rays (B) Sound waves (C) Magnetic resonance (D) Radio isotopes
4. Mohiniattam is folk dance of
(A) Tamil Nadu (B) Andhra Pradesh (C) Kerala (D) Karnataka
5. Spherical shape of rain droplet is due to
(A) Cohesion (B) Surface tension (C) Adhesion (D) Capillary action
6. Where is-the Secretariat of SAARC located?
(A) Delhi (B) Kathmandu (C) Islamabad (D) Colombo
4 Which of the following is the busiest airport of India?
(A) Delhi (B) Mumbai (C) Bengaluru (D) Chennai
8. The name “Xerox”, was basically the name of
(A) person (B) company (C) city (D) Planet
9. Life expectancy is highest in the world in
(A) Canada (B) Germany (C) Japan (D) Norway
10. Survey of India is under the Ministry of
(A) Defence (B) Environment and Forest (C) Home Affairs (D) Science and Technology
1. Project Tiger was launched in
(A) 1973 (B) 1976 (C) 1978 (D) 1983
12, “World Development Report” is an annual publication of
(A) UNDP (B) IBRD (C)WwTO (D) IMF
13. Who was the first Indian actress to receive the “Padma Shri Award”?
(A) Smita Patil (B) Nargis Dutt (C) Meena Kumari (D) Madhubala
14. Hoyasala monuments are found in
(A) Hampi and Hospet (B) Halebid and Belur (C) Mysore and Bengaluru (D) Sringeri and Dharwar
15. The largest number of Buddhists are found in
(A) Bihar (B) Karnataka (C) Maharashtra (D) Uttar Pradesh
16. Which of the following pairs is not correctly matched?
(A) India’s first technicolour film - Jhansi ki Rani (B) India’s first 3-D film — My dear Kuttichathan
(C) India’s first insured film — Taal (D) India’s first actress to win the Bharat Ratna — Meena Kumari
17. In which one of the following cities is the Lingaraja Temple located?
(A) Bhubaneshwar (B) Bijapur (C) Kolkata (D) Shravanabelagola
18. Ghatotkach was the son of
(A) Duryodhana (B) Arjuna (C) Yudhisthira (D) Bhima
19. What is KAVERI?
(A) Missile (B) Cryogenic engine  (C) Tank (D) Satellite
20. What is Nishant?
(A) Tank (B) UAV (C) Engine (D) Missile
21. One Megabyte is equal to
(A) 10,00,000 bytes (B) 10,00,0000 bytes  (C) 10,24,000 bytes (D) 10,48,576 bytes
22. The Treaty of Versailles ended the
(A) World War- | (B) World War- Il (C) French Revolution (D) Russo-Japanese War
23. Which colour has the longest wave length
(A) Blue (B) Green (C) Red (D) None
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Whose autobiography is the book “My music My Life”?
(A) Pandit Shiv Kumar Sharma (B) Ustad Amjad Ali Khan (C) Pandit Ravi Shankar
(D) Ustad Zakir Hussain

With which one of the following games is the Hopman Cup associated?

(A) Badminton (B) Lawn Tennis (C) Hockey (D) Football

The caves and rock cut temples at Ellora are

(A) Buddhist (B) Buddhist and Jain (C) Hindu and Jain (D) Hindu, Buddhist and Jain
The highest milk producing breed of goat in India is

(A) Barbari (B) Jamnapuri (C) Black bengal (D) Beetal

The fertilizer consumption is the highest in India in

(A) Kerala (B) Tamil Nadu (C) Punjab (D) Haryana
Which of the following States in India has the largest petro-chemical complex?
(A) Maharashtra (B) Gujarat (C) Assam (D) Bihar

Which of the following is known as the playground of Europe?

(A) Italy (B) Germany (C) France (D) Switzerland
The National Anthem of India (Jana Gana Mana....) was first sung in

(A)1912 (B) 1919 (C) 1929 (D) 1911

Which of the following is correctly matched with regard to thermal projects?
(A) Korba Uttar Pradesh

(B) Ramagundam Madhya Pradesh

(C) Talcher Andhra Pradesh

(D) Kawas Gujarat

The first Speaker of Lok Sabha was

(A) M. Anathasayanam Ayyangar (B) Sardar Hukam Singh (C) G.V. Mavalankar

(D) S. Radhakrishnan
The first regular session of the General Assembly of the UN was held at

(A) New York (B) Paris (C) London (D) Moscow

The latest official language of UN is

(A) Chinese (B) Hindi (C) Russian (D) Arabic

The longest route train Himasagar Express runs between

(A) Jammu Tawi - Kanyakumari (B) New Delhi - Chennai

(C) Mumbai — Kolkata (D) Bengaluru — New Delhi

The first Asian Games were held at

(A) Manila (B) Tokyo (C) Jakarta (D) New Delhi
Who among the following is not associated with Sitar?

(A) Amir Khusrau (B) Ravi Shankar (C) Vilayat Hussain Khan (D) Amjad Ali Khan
Commonwealth of Independent States (CIS) is made up of

(A) 10 members (B) 15 members (C) 11 members (D) 8 members
Which one of the following is correctly matched?

(A) Pachmarhi Sanctuary — Daltonganj (B) Tadoba National park — Hoshangabad
(C) Periyar sactuary - Idukki (D) Rohla National Park — Mayur bhanj
The first month of Indian National Calendar is

(A) Phalguna (B) Magha (C) Jaishtha (D) Chaitra

Islam was founded in
(A) 7" Century AD (B) 5™ Century AD (C) 5" Century BC (D) 3" Century BC
Shintoism is present in

(A) China (B) Japan (C) Sri Lanka (D) Thailand
What is the total number of High Courts in India at present?

(A) 28 (B) 26 (C)24 (D) 21

What is the percentage of hydrogen in the chemical composition of Sun?

(A) 61% (B) 75% (C)71% (D) 54%

What is the age of the sun?

(A) 10 billion years (B) 15 billion years (C) 7 billion years (D) 5 billion years
The standard 18 carat gold contains

(A) 82 parts gold and 18 parts other metals (B) 18 parts gold and 82 parts other metals
(C) 18 parts gold and 6 parts other metals (D) 9 parts gold and 15 parts other metals
What is the International Date Line?

(A) The equator (B) Zero degree longitude (C) 90° E longitude  (D)180° longitude
The term Fourth Estate refers to

(A) Very backward state (B) Judiciary (C) Parliament (D) Press

Orissa is the poorest State of the country. What percentage of people is living below poverty line
in the State?

(A) 30% (B) 35% (C) 40% (D) 55%
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PART - B : GENERAL ENGLISH

Select the word which is closest in meaning to the given word:

Abandon

(A) sacrifice (B) forsake (C) encourage
Accord

(A) conclusion (B) assist (C) due

Lax

(A) confuse (B) strict (C) flexible
Rectify

(A) improve (B) correct (C) consider
Conceal

(A) hide (B) reveal (C) tell

Chaste

(A) regret (B) unholy (C) untouchability
Synopsis

(A) summary (B) disease (C) hypothetical

Select the word most nearly opposite in meaning to the given word:

Repulsion

(A) ugliness (B) attraction (C) disgust
Amateur

(A) professional (B) favourite (C) unpaid
Prolong

(A) lengthen +7(B) curtail (C) abbreviate
Abridge

(A) reduce (B) expand (C) cut
Vacant

(A) empty (B) occupied (C) available
Slump

(A) nadir (B) boom (C) raise
Feeble

(A) frail (B) pathetic (C) shabby
Stationary

(A) inactive (B) moving (C) motionless

(D) acceptance
(D) agreement
(D) secret

(D) rectangle
(D) effort

(D) pure

(D) group

(D) restart

(D) skilled

(D) increase
(D) increase
(D) existing
(D) depression
(D) sturdy

(D) native

Questions 66 to 70 are definitions of certain words, choose the correct word:

That which cannot be avoided

(A) inevitable (B) incredible (C) implicit
Lover of mankind

(A) utopian (B) philanthropist (C) credulous
A collection of poems

(A) anthology (B) bellicose (C) fiction

A word no longer in use

(A) circe (B) pedant (C) obsolete
A speech made to oneself

(A) soliloquy (B) monologue (C) audible

(D) inexplicable
(D) altruist

(D) epilogue
(D) hyperbole

(D) dialogue

Each of the following sentences have been divided into four parts A, B, C and D. Identify the part

having an error.

(A) Tom not only (B) lost his (C) watch but

(A) Some of (B) my friends (C) come to school
(A) He removed (B) his coat (C) and hanged it
(A) The Committee (B) is divided (C) on one

(A) Soloman was (B) the wisest (C) of all

(A) Neither praise (B) nor blame (C) seem to

(A) The Chief (B) with all his (C) men and soldiers
(A) Beside his children (B) there were (C) present his

(A) Being a (B) very hot day (C) | remained

(A) One cannot (B) be too careful (C) about what
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Each question consists of an idiom followed by four explanations, choose the answer which is
most suitable.

Make a hole

(A) spend large amount of money (B) cutshort  (C) do something before the right time
(D) no particular activity

Nip in the bud

(A) to be true (B) attractive part of something (C) advise someone

(D) check ugly situation before it grows

Leave no stone unturned

(A) undoubtedly (B)tosurvey  (C) use all available means (D) some cause of quarrel
Rooted to the spot

(A) prove a serious matter (B) suffer for misdeeds (C) to triumph over (D) too shocked to move
In a trice

(A) behave arrogantly (B) very quickly (C) have reason to suspect (D) get the worst

Fill in the blanks with correct prepositions from among the four choices given below each
sentence:

Don’t loiter _____the street.

(A) on (B) about (C)in (D) through
The work was done ____ haste.

(A)in (B) with (C) before (D) into

He walked _____ the end of the road.

(A) till (B) at (C)to (D) from
She returned all his gifts ___ one.

(A) until (B) if (C) with (D) but

He is devoid ___sense.

(A) of (B)in (C) into (D) to

Fill in the blanks with the correct word from among the four choices given below each sentence:

I ___him for a long time.

(A) were known (B) have known (C) was known (D) has known
They ____ since four o’clock.

(A) have been playing (B) had played (C) have played (D) will be playing
He ____us next week.

(A) had met (B) will be meeting (C) has been meeting (D) has met

The light went out while | ____.

(A) was reading (B) had been reading  (C) had read (D) were reading
If Rajiv had not been careless he

(A) would have never failed (B) would never have failed

(C) would have failed never (D) will never be failing

Each of the sentences below contains an underlined part. Four possible substitutes are given for
the underlined portion. Select the best alternative.

An injury was hindering him from playing.

(A) neglecting (B) hampering (C) possessing (D) preparing
We stayed at plush hotel in Agra.

(A) luxurious (B) decorated (C) grandeur (D) Massive
The room resonated with the chatter of many people.

(A) echoed (B) brimmed (C) resounded (D) filled

The ostensible reason for his absence was illness.

(A) unclear (B) apparent (C) doubtful (D) shocking
He is meticulous in his evaluation.

(A) shoddy (B) trim (C) precise (D) tardy
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